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31 N1 Ø 5 C/12 C=81
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COMPRIMENTO
TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

P1
     60A   1     5     35     59    2065
     50A   2    10      4    406    1624

P2 
     60A   1     5     35     59    2065
     50A   2    10      4    406    1624

P3 
     60A   1     5     64     83    5312
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P4 
     60A   1     5     64     71    4544
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P5 
     60A   1     5     64     83    5312
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P6
     60A   1     5     35     59    2065
     50A   2    10      4    406    1624

P7 
     60A   1     5     64    101    6464
     60A   2     5     64     27    1728
     50A   3    10      6    341    2046
     50A   4    10      6    450    2700

P8
     60A   1     5     35     71    2485
     50A   2    10      4    406    1624

P9 
     60A   1     5     35    101    3535
     60A   2     5     35     27     945
     50A   3    10      6    406    2436

P10 
     60A   1     5     64     81    5184
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P11 
     60A   1     5     64     83    5312
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P12 
     60A   1     5     66     91    6006
     50A   2    10      4    361    1444
     50A   3    10      4    450    1800

P13 
     60A   1     5     66     81    5346
     60A   2     5     35     22     770
     50A   3    10      6    406    2436
     50A   4    10      4    361    1444
     50A   5    10      4    450    1800

P14 
     60A   1     5     66    173   11418
     60A   2     5    132     27    3564
     50A   3    10      8    361    2888
     50A   4    10      8    450    3600

P15 
     60A   1     5     35     81    2835
     50A   2    10      4    406    1624

P16 
     60A   1     5     64     71    4544
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P17 
     60A   1     5     66    153   10098
     60A   2     5    132     27    3564
     50A   3    10      8    361    2888
     50A   4    10      8    450    3600

P18
     60A   1     5     78     67    5226
     50A   2    10      4    410    1640
     50A   3    10      4    190     760
     50A   4    10      4    396    1584

P19 
     60A   1     5     78     67    5226
     50A   2    10      4    410    1640
     50A   3    10      4    190     760
     50A   4    10      4    396    1584

P20 
     60A   1     5     66     83    5478
     50A   2    10      4    361    1444
     50A   3    10      4    450    1800

P21 
     60A   1     5     35     81    2835
     60A   2     5     35     22     770
     50A   3    10     10    406    4060

P22 
     60A   1     5     35     91    3185
     50A   2    10      4    406    1624

P23 
     60A   1     5     78     67    5226
     50A   2    10      4    410    1640
     50A   3    10      4    190     760
     50A   4    10      4    396    1584

P24 
     60A   1     5     47     67    3149
     50A   2     6.3    31     68    2108
     50A   3    16      4    434    1736
     50A   4    10      4    214     856
     50A   5    10      4    396    1584

P25 
     60A   1     5     64     59    3776
     50A   2    10      4    341    1364
     50A   3    10      4    450    1800

P26 
     60A   1     5     66    101    6666
     60A   2     5     66     27    1782
     50A   3    10      6    361    2166
     50A   4    10      6    450    2700

P27
     60A   1     5     40    101    4040
     60A   2     5     40     27    1080
     50A   3    10      6    366    2196
     50A   4    10      6    140     840

P28 
     60A   1     5      9     67     603
     50A   2    10      4     96     384

P29 
     60A   1     5      9     67     603
     50A   2    10      4     96     384

P30 Lance 2
     60A   1     5      9     67     603
     50A   2    10      4     96     384

P31 
     60A   1     5     29     71    2059
     50A   2    10      4    341    1364

P32
     60A   1     5     31     81    2511
     50A   2    10      4    361    1444

P33 Lance 2
     60A   1     5      9     67     603
     50A   2    10      4     96     384

P34 
     60A   1     5     66     83    5478
     50A   2    10      4    361    1444
     50A   3    10      4    450    1800

P35
     60A   1     5     71     83    5893
     50A   2    10      4    410    1640
     50A   3    10      4    140     560
     50A   4    10      4    361    1444

P36 Lance 2
     60A   1     5      9     67     603
     50A   2    10      4     96     384

P37 
     60A   1     5     66     83    5478
     50A   2    10      4    361    1444
     50A   3    10      4    450    1800

COMPR PESO
(mm) (m) (kg)

BIT
RESUMO AÇO CA  50-60

AÇO

    1680     259    5       60A
      21       5    6.3     50A
    1054     651   10       50A
      17      27   16       50A

Peso Total        60A =     259 kg
Peso Total        50A =     683 kg
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